

Packaging Supplies





ABOUT US

Foresight Packaging Solutions is here to provide its customers with jars, containers, tubes and vials made out of renewable and sustainable sources. Our founders continue to build on their combined 25+ years of product development and sourcing experience to offer fresh designs, new ideas, and biodegradable products with near manufacturing direct prices along side the highest level of customer service that can only be achieved with a strong local presence.

With warehouses located in both Canada and Asia we are uniquely positioned to offer an extensive product selection, fast delivery, customized packaging solutions and all at the most competitive prices in the industry. Using a fully integrated MRP system we are able to offer a wide range of products on our website, shipping from our warehouse located in Ontario, Canada, with order turn around times of less then 48 hours. For larger orders we offer direct to customer shipping from our warehouse in Asia where we are experts in consolidating your orders into a product mix that best suits your needs.

Whether you are a private retailer, in need of small quantities to be able to serve your local market or you are one of Canada's large publicly traded growers looking for a reliable partner to ensure your packaging needs are expertly met with what you need, when you need it, Forsight Packaging Solutions is here to exceed your expectations so you can do the same for your customers.





DESIGN

Foresight Packaging Solutions at its heart is devoted to continually improving the containers, tubes and vials landscape. In a flooded market of generic packaging options, we strive to bring new ideas and new designs to market.

We regularly role out new designs for our customers to review and purchase. If your company is looking to build a brand in a crowded and easily confusable field of identical looking packages, or if you supply a market the has place unnecessarily high restrictions on the way your products can be packaged, then we invite you to follow our social media pages and subscribe to our newsletters so that you can be among the first to know when we drop our new designs. We work hard to ensure that all our new packaging is compliant to the latest regulations while still offering unique looks and functionality.





SEMI-BIODEGRADABLE* DROPPER BOTTLES

When percision is what your looking for when dispensing medication, our biodegradable dropper bottles offer a simple and time honoured solution. Featuring child resistant caps with tamper evident bands, embossed graduated pipettes and made of biodegradable materials, they are ideal for storing, selling and dispensing your oils and tinctures.



Model	Colour	Size	Capacity	Case Size
BDDBW15	White	15 ml	0.5 fl oz	120 pcs
BDDBW30	White	30 ml	1.0 fl oz	120 pcs
BDDBW40	White	40 ml	1.4 fl oz	120 pcs
BDDBW60	White	60 ml	2.0 fl oz	120 pcs
BDDBB15	Black	15 ml	0.5 fl oz	120 pcs
BDDBB30	Black	30 ml	1.0 fl oz	120 pcs
BDDBB40	Black	40 ml	1.4 fl oz	120 pcs
BDDBB60	Black	60 ml	2.0 fl oz	120 pcs
BDDBG15	Green	15 ml	0.5 fl oz	120 pcs
BDDBG30	Green	30 ml	1.0 fl oz	120 pcs
BDDBG40	Green	40 ml	1.4 fl oz	120 pcs
BDDBG60	Green	60 ml	2.0 fl oz	120 pcs

^{*} Malleable top is made of silicon



BIODEGRADABLE DROPPER BOTTLES

Model	Style	Colour	Size	Case Size
BDDBR15	Red	15 ml	0.5 fl oz	120 pcs
BDDBR30	Red	30 ml	1.0 fl oz	120 pcs
BDDBR40	Red	40 ml	1.4 fl oz	120 pcs
BDDBR60	Red	60 ml	2.0 fl oz	120 pcs
BDDBL15	Blue	15 ml	0.5 fl oz	120 pcs
BDDBL30	Blue	30 ml	1.0 fl oz	120 pcs
BDDBL40	Blue	40 ml	1.4 fl oz	120 pcs
BDDBL60	Blue	60 ml	2.0 fl oz	120 pcs
BDDBC15	Clear	15 ml	0.5 fl oz	120 pcs
BDDBC30	Clear	30 ml	1.0 fl oz	120 pcs
BDDBC40	Clear	40 ml	1.4 fl oz	120 pcs
BDDBC60	Clear	60 ml	2.0 fl oz	120 pcs







BIODEGRADABLE JARS

Made of 100% biodegradable materials, the large opening on these jars and containers allow for ease of use as they are easy to fill. Along with air tight, child resistant lids means products stay fresher longer while helping to control odours.



Model	Style	Colour	Size	Case Size
BDSW101	Square Cap	White	15 gram	250 pcs
BDSW102	Square Cap	White	30 gram	250 pcs
BDSW103	Square Cap	White	50 gram	200 pcs
BDSW104	Square Cap	White	100 gram	144 pcs
BDSW105	Square Cap	White	400 gram	60 pcs
BDSB101	Square Cap	Black	15 gram	250 pcs
BDSB102	Square Cap	Black	30 gram	250 pcs
BDSB103	Square Cap	Black	50 gram	200 pcs
BDSB104	Square Cap	Black	100 gram	144 pcs
BDSB105	Square Cap	Black	400 gram	60 pcs
BDSC101	Square Cap	Clear	15 gram	250 pcs
BDSC102	Square Cap	Clear	30 gram	250 pcs
BDSC103	Square Cap	Clear	50 gram	200 pcs
BDSC104	Square Cap	Clear	100 gram	144 pcs
BDSC105	Square Cap	Clear	400 gram	60 pcs



BIODEGRADABLE JARS

Model	Style	Colour	Size	Case Size
BDSR101	Square Cap	Red	15 gram	250 pcs
BDSR102	Square Cap	Red	30 gram	250 pcs
BDSR103	Square Cap	Red	50 gram	200 pcs
BDSR104	Square Cap	Red	100 gram	144 pcs
BDSR105	Square Cap	Red	400 gram	60 pcs
BDSW101	Smooth Cap	White	5 gram	250 pcs
BDSW102	Smooth Cap	White	15 gram	250 pcs
BDSW103	Smooth Cap	White	100 gram	144 pcs
BDSB101	Smooth Cap	Black	5 gram	250 pcs
BDSB102	Smooth Cap	Black	15 gram	250 pcs
BDSB103	Smooth Cap	Black	100 gram	144 pcs
BDFW101	Fat Cap	White	100 gram	144 pcs
BDFW102	Fat Cap	White	250 gram	80 pcs
BDFB101	Fat Cap	Black	100 gram	144 pcs
BDFB102	Fat Cap	Black	250 gram	80 pcs





